                 TotalSampleSize=20; TrueMean=0; TrueSD=0; RandomError=1                 1

                                      Subj

                   Randomized  Pair   True                                Ranked   Pair

     Obs  sim  ID    Group     Rand  Value     Pre      Post     Change    Group   Rank

       1   1    4   control      4     0    -3.02081   0.77003   3.79084  control    1

       2   1    3   control      3     0    -1.49959   1.12877   2.62835  treat      1

       3   1    1   control      1     0    -1.29974  -0.39456   0.90518  treat      2

       4   1   13   treat        3     0    -1.24829  -1.57318  -0.32489  control    2

       5   1   16   treat        6     0    -1.03140  -0.03727   0.99413  control    3

       6   1   15   treat        5     0    -0.84360   0.86330   1.70690  treat      3

       7   1    2   control      2     0    -0.38584   1.18024   1.56608  treat      4

       8   1   17   treat        7     0     0.03889   1.98229   1.94340  control    4

       9   1   18   treat        8     0     0.04778  -0.52116  -0.56894  control    5

      10   1    8   control      8     0     0.39610   0.02973  -0.36637  treat      5

      11   1    5   control      5     0     0.48488   1.18005   0.69517  treat      6

      12   1    7   control      7     0     0.50932  -0.41590  -0.92522  control    6

      13   1   11   treat        1     0     0.52578   0.71593   0.19014  control    7

      14   1   19   treat        9     0     0.59665  -0.69717  -1.29382  treat      7

      15   1   10   control     10     0     0.68370   0.55091  -0.13279  treat      8

      16   1    6   control      6     0     0.82312   0.77403  -0.04909  control    8

      17   1   14   treat        4     0     0.94028   1.61431   0.67403  control    9

      18   1   20   treat       10     0     1.35570  -0.80506  -2.16076  treat      9

      19   1   12   treat        2     0     2.03973  -0.80506  -2.84479  treat     10

      20   1    9   control      9     0     2.48319  -0.32610  -2.80929  control   10
                 TotalSampleSize=20; TrueMean=0; TrueSD=0; RandomError=1                 2

   No                                                                             Mean

   Of                                                   Mean                      Conf

  Sims              Method              Type0error    Estimate    SDestimate    Interval

  3000    1.by rand no adjust               9.9        -0.02         0.64         1.10

  3000    2.by rand adjusted                9.3        -0.00         0.46         0.81

  2983    3.by rand no adjust paired        9.6        -0.01         0.64         1.16

  2923    4.by rand adjusted paired         9.9        -0.00         0.46         0.87

  3000    5.by rank no adjust               1.8        -0.00         0.44         1.12

  3000    6.by rank adjusted                8.1        -0.00         0.43         0.79

  2784    7.by rank no adjust paired        8.1        -0.01         0.44         0.86

  2946    8.by rank adjusted paired         7.8        -0.00         0.43         0.83

